Mathematics 3A03 Real Analysis I
Winter 2025 ASSIGNMENT 5 solutions
Topic: Metric Spaces
Participation deadline: 4 April 2025 at 11:25am

The meaning of the participation deadline is that you must answer the multiple choice
questions on childsmath before that deadline in order to receive participation credit for the
assignment. The childsmath poll that you need to fill in for participation credit will be
activated immediately after the last class before the above deadline.

Assignments in this course are graded only on the basis of participation, which you fulfill
by answering the multiple choice questions on childsmath. You will get the same credit for
any question that you answer, regardless of what your answer is. However, please answer
the questions honestly so we obtain accurate statistics on how the class is doing.

You are encouraged to submit full written solutions on crowdmark. If you do so, you will
not be graded on your work, but you will receive feedback that will hopefully help you to
improve your mathematical skills and to prepare for the midterm test and the final exam.

There is no strict deadline for submitting written work on crowdmark for feedback, but
please try to submit your solutions within a few days of the participation deadline so that
the TA’s work is spread out over the term. If you do not submit your solutions within a few
days of the participation deadline then it may not be feasible for the TA to provide feedback
via crowdmark. However, you can always ask for help with any problem during office hours
with the TA or instructor.

You are encouraged to discuss and work on the problems jointly with your classmates,
but remember that you will be working alone on the test and exam. You should attempt
to solve the problems on your own before brainstorming with classmates, looking online, or
asking the TA or instructor for help.

A full solution means either a proof or disproof of each statement that you are asked to
consider when selecting your multiple choice answers.

Full solutions to the problems will be posted by the instructor. You should read the
solutions only after doing your best to solve the problems, but do make sure to read the
instructor’s solutions carefully and ensure you understand them. If you notice any errors in
the solutions, please report them to the instructor by e-mail.

Enjoy working on these problems!
— David Earn
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1. Suppose = (z1,...,zy) € RY and z, = (zp1,...,2nn) € RY for each n € N.
Which of the following statements are true for the sequence (z,),eny in the metric
space (RY, Euclidean)?

W, —=r = 1z, —>z; in(Rstandard) Vj=1,2,...,N;
B, —r << 1, —>z; in(Rstandard) Vj=1,2,...,N;

O (z,,) never converges.

For any a,b € R, a? < a? + b?. Therefore, for each j € {1,2,..., N}, we have

N
j2jl = /23 <\ D@ =lzll,.
i=1

Thus, a vector converges in the Euclidean norm exactly when each of its individual coordinates

converges as real numbers (with the standard distance). O

2. Let V be an inner product space, with norm ||v|| = {/{v,v), v € V. Assume that the

n — oo

sequences (v, )nen, (Wy)nen are both convergent, v, ~=—= v and w,, == w. Which of
the following statements are true?

B (v, w,) — (v,w), in (R,standard);
O (vn, wyn) = ||[v|| + [Jw]||, in (R,standard);
O (v, w,) does not necessarily converge in (R,standard).

The second statement is false: Consider constant sequences v,, = (1,0, ...,0) Vn and w, = (0,0,...,0) Vn;
then (v, w,) =0Vn but ||v||+ [Jw]| =14+0=1.

The first statement is true (so the third statement is false). Given & > 0 we must show 3N € N such
that, for any n > N, |[(v,, w,) — (v,w)| < e. To that end, observe that, for any n, we have

[(Vn wn) — (v, W) = [(Vn, Wn) — (Vn, W) + (V5 w) — (v, W)]
= [(vn, (wn — w)) + ((vn = v){v, w)|
< {n, (wn, — w))| + [{(vn, — v) (v, w)]| (by triangle inequality)
< ol Jwn, — wl| + |Jw]| || — v (by Cauchy-Schwarz inequality)

Here, we can make the second term as small as we like because ||w]|| is a fixed non-negative real number
and v, == v. To make the first term above as small as we like, we need the sequence (v,,) to be
bounded. But (v,,) is necessarily bounded (we proved in class that convergent implies bounded for
sequences in any metric space). Proceeding formally, we know 3C; > 0 for which ||v,|| < C; for all

n € N. Let Cy = C + ||Jw||. Since v, === v and w,, === w, for any € > 0, 3N, N3 € N such that
d(n,v) = [lvn —v[| <

d(wn, w) = [Jwp —w|| <
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Now let N = max{Ny, N2}, so both of the above inequalities are true ¥n > N. Then, for all n > N,
[(Un, wn) = (U, w)| < [on]| lwn — w|l + [lw]] [|vn = o]

e €
< G2 ([lwn —w|[ +on —vl) < 5+ 5 ==

Thus, by the definition of the limit, (v, w,) == (v, w) in R. O

. In a metric space (M, d), any set with no limit points is:

[] open;
B closed;

[J neither open nor closed.

In (R, standard, consider any singleton set ¥ = {x}. Then F has no limit points and F is not open.

We proved in class that a set in any metric space is closed iff it contains all its limit points. But if it
has no limit points then it contains all its limit points! Hence any set without limit points is closed.
(It is a good exercise to prove this result without appealing to the theorem proved in class. You will
end up essentially proving that theorem.) ]

. By C"[a, b] we mean the space of n-times continuously differentiable functions on the
closed interval [a, b], i.e., functions that have n derivatives and that the n'" derivative
is continuous on [a, b]. For n = 0, we mean C|a, b]. The derivative operator on C"|a, b|
for n > 0 is defined by (D(f))(z) = f'(x). The sup norm || - || on C|a,b| is still a
norm on C"[a, b] for n > 0 (why?). If n > 0, we can also define a “derivative norm”,

111D = Il flloo =+ [1l|sc-
Which of the following statements are true?

O D : C'a,b] — Cla,b] is a continuous operator under the sup norm;
B D:(C'a,b] = Cla,b] is a continuous operator under the derivative norm;
O D : C'a,b] — C|a,b] is not a continuous operator under any norm.

If we have a norm on a vector space then it is still a norm on any subspace. Thus, the sup norm,
which is valid on all of Cla,b], is still valid when applied to subspaces with some extra smoothness
condition, in particular on C"[a, b] for any n > 0.

D : C'a,b] — Cl[a,b] is NOT a continuous operator under the SUP norm

We need to show there exists a sequence {f,} C C'[a,b] such that | f,|| .. — 0, but ||D(f,)|l., # 0.
Let fn(z) = +sin(nz) on [0,7]. Then f}(x) = cos(nz). Therefore,
1 n — oo
1falloo = — === 0, but || fillc = [l cos(nz)]oc = 1.

Thus, f, — 0 in the sup norm, but D(f,) = f,, # 0. Hence the derivative operator is not continuous
from C{a,b] to Cla,b] in the sup norm.
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D : C'[a,b] — CJa,b] IS a continuous operator wrt the DERIVATIVE norm

n — oo

Now suppose f, —= f in the derivative norm, i.e.,

Ifn=Fllp = Ilfn = Fllo + 1S = Fllos =—= 0.

Since norms are non-negative, it follows that || f, — f|| ., == 0 and || f, — f'||., = 0. Therefore,

ID(a) = DDl = 15— £l == 0.

Thus, the derivative operator is continuous from (C'[a,b], ||-| ) to (Cla,b], ||-||..)- O

Additional problems

5. (a) Consider f: M — N with domain (M ,discrete), and N any metric space (N, p).
Show that any such f is continuous.

f is continuous iff for any open U C N, f~1(U) is open in M. But M is discrete so every set
in M is open. Hence any function f defined on M is continuous, regardless of what the target
space is.

(b) Now suppose f : M — N but the range is (N discrete), and (M, d) is a metric
space that is not discrete (where “discrete” means A C M is both open and closed

iff A= M or A= @). Show that if f is continuous then f is a constant function.

Suppose, in order to derive a contradiction, that f is not constant. Then there exist points
x1, T2 € M such that f(z1) # f(x2). Since N has the discrete topology, the singleton {f(z1)} is
open in NV, and so the inverse image
—1
[T {f(@0)})

is open in M by continuity of f. Similarly, f=1({f(x2)}) is open in M. Moreover, since f(z1) #
f(z2), these inverse images are disjoint. More generally, for each y € N/, the set

ST

is open in M, and the collection of these inverse images divides M into pairwise disjoint open
sets. But each f~1({y}) is also the inverse image of a closed set (a singleton in any metric space
is closed), so it is closed. Hence, every inverse image of a singleton, f~!({y}), is both open and
closed. Now, since f is not constant, there are at least two disjoint nonempty open-and-closed
subsets of M, namely f~1({f(z1)}) and f~1({f(z2)}). This contradicts the assumption that M
is not discrete.

Therefore, our assumption that f is not constant must be false. Thus, any continuous function
from a non-discrete metric space into a discrete space must be constant. O

6. For a set F in a metric space (M, d), we defined the interior, E°, to be the set of all
interior points of F/. Show that E° is the largest open set contained in F.
Hint: Show that E° is open, E° C E, and if U is open and U C FE, then U C E°.

(E° is open) We defined an open set to be a set in which every point is an interior point. So E°—the
set of all interior points of E—is open by definition.

(E° C E) Suppose z € E°. Then z is an interior point of E, i.e., there is a ball B.(z) C E. In
particular, z € E. So E° C E.

(Maximality: U open and U C E = U C E°.) Suppose x € U. Since U is open, Je > 0 such that
B.(x) CU C E. Hence z € E° by definition. So U C E°. O
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1 1
- — ‘ Show that (M, d) is

7. Consider the metric space M = [1,00) with d(z,y) =
r Yy

not complete.

Hint: Show that the sequence z, = n, n € N, is a Cauchy sequence that does not
converge.

You should first check that d really is a metric on M. Given that, and defining (z,) = (n), suppose
m,n € N. WLOG assume m > n, so 0 < m — n < m, which implies 0 < *~= < 1. Then

1 17mfn

n m nm

1 1
o n-n’

m—-n
m

d(gjn7 Im) ==

which can be made arbitrarily small by taking n sufficiently large. Hence (z,,) is a Cauchy sequence

n — oo

wrt d. But z,, === 00, so (z,) does not converge. Therefore, (M, d) is not complete. O

8. Prove or disprove: An inner product space is necessarily complete.

The statement is FALSE. An inner product space is not necessarily complete; completeness is an
additional property. As noted in class, a complete inner product space is called a Hilbert space.
Here are two instructive counterexamples.

(1) Let V = ([0, 1], the space of continuous real-valued functions on [0, 1]. Define the Euclidean (L?)
inner product via

(f.9) = / f(@)g(z) d,

1/2
with norm || f|| = (fol |f(z)]? dx) . This makes V into an inner product space.
Now consider the sequence f,(z) = 2™. Each f, € C[0, 1], and:

1 2 1

1
9 " mi2 n,m — oo
n-__ Jm = - d = o 07
o= full? = [ o —amP e = g - e

so {f.} is a Cauchy sequence in the L? norm.

However, the pointwise limit of f,(z) is the function:

0, 0<z<1
€Tr) =
/(@) {1, -

which is not continuous on [0, 1], and hence f ¢ V. Therefore, {f,} does not converge in V', even
though it is Cauchy. So V' is not complete. O

(2) The space £? of square-summable sequences is defined as

52_{x_(xn)€R°°:Z|xn|2<oo},

n=1

with inner product

o 00 1/2
(@,y) = > @y,  andnorm x| = (Z Iffn|2> :
n=1 n=1

Now let V' C ¢2 be the space of all sequences with only finitely many nonzero terms:

V ={z = (z,) € % : 2, = 0 for all but finitely many n}.

Page 5 of 12



This space is an inner product space under the same inner product. Now define the sequence:

2™ =(1,4,1,...,100,...) eV

Each z(*) € V since it has only finitely many nonzero terms. Now compute:

max(k,m)
Hx(k) _ x(m)”z _ Z - kmos ()
n=min(k,m)+1

So {z(®} is Cauchy in the £? norm. Its limit is the infinite sequence

r= (L340,

which belongs to £2 (since Y. 1/n? < o0), but not to V (since it has infinitely many nonzero terms).
Hence, {x(k)} is a Cauchy sequence in V', but its limit lies outside V', so V is not complete. [

Note: The space V in this example is isomorphic to the space P[0, 1] of polynomials discussed in
class.

9. Prove or disprove: If (M, d) is a complete metric space and F' C M is a closed subset,
then (F,d) is a complete metric space.

The statement is TRUE. Let (x,) be a Cauchy sequence in F. Since F' C M and M is complete,
dxr € M such that x,, — x. But F is closed, so it contains all its limit points. In particular, it must
contain x. Hence (F,d) is complete. O

10. Verify the following inequalities, which relate the various p-norms on R",

12l < llzlly < lllly < nllzll,  and |zl < Vo],

Let = (z1,z2,...,2,) € R"™ and recall
1/2
n n
2
lall = max lagl, Nzly = | Dokl | llally =3 el
Jj=1 Jj=1

Lzl < llll

Each coordinate satisfies |z;]? < >7'_ | |zx]?, so:

" 1/2
2| < <Z xk|2> = [jz||, for all j.

k=1

Hence,
l#lloe = max|z;| < |l -

2. |lzfly < [l

For each j, we have |z;| < ||z, so |2;|> <|z;| - ||z|,. Summing over j,
n n
2
Do laP <Y gl llally =l -
j=1 j=1
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Taking square roots of both sides, we obtain:

2l < llfl; -

3. |lzlly < nflzll

Since |z;| < ||z||, for each j, summing gives:
n n
lzlly =D legl <D llelle = n el -
j=1 j=1

4. |zl < vzl

Apply Cauchy—Schwarz to the vectors u; = |z;|, v; = I

1/2 1/2

n n n
Dolml < (Dol (2] =l Ve
j=1 Jj=1 Jj=1

Summarizing, we have
2l < ll2lly < llzlly < nllelly, and zfl, < Vall,,
as requried. O

Balls in the norm [-||, are often written Bf'(z). Show that the inequalities above imply
that the following sets are nested:

B, (x) € B, (z) € BM(z) € B2(x) C BX(x).

r/n r/n

Let y € B2, (x), so |ly — x|, < r/n. Then

r/n
Iy — 2l < lly —zlly <r/n,

soy € BY (x), establishing
Next, if y € B, (), then
-
ly —zlly snlly -zl <n-—=r
soy € Bl(z). Hence
min (%) € By (2).
Next, suppose y € B} (z). Then
ly —lly < lly —zll, <,
so y € B2(z), and we have
By(z) € B}(w).
Finally, if y € B2(x), then
ly =2l < lly —zll, <,
so y € B2°(x), which implies
B (x) € B (x),

completing the chain of containments. O
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11. Prove that a norm || - || on a real vector space V' is induced by an inner product if and
only if it satisfies the parallelogram law:

lz +ylI” + e —yl* = 2[jzl* +2/lyl*, Vo.y eV (1)

Hint: First, show that any inner product on V induces a norm that satisfies the
parallelogram law. Second, given a norm || - || on V that satisfies the parallelogram
law, show that

(w.9) = 1 (l+ ol ~ 2~ 9l?) (©)

defines an inner product on V', and that the norm induced by this inner product is

This is a famous theorem due to Jordan and von Neumann (1935, “On Inner Products in Linear,
Metric Spaces”, Annals of Mathematics 36(3), 719-723). They took the scalar field to be C rather
than R.

Proof: We aim to prove “a norm is induced by an inner product” <= “the norm satisfies the
parallelogram law”.

(=)

Given an inner product (-, ) on a vector space V, and the induced norm ||-||, for any =,y € V' we have

lz+yl” +llz =yl = (@+y,2+y) + (& —y,z—y) (2a)
= ((2.2) + (oy) + o2) + (o9) ) + ((2,2) = (2.9) — (5.2) + (5,9) ) (2b)
= 2(z,z) +2(y,y) (2¢)
= 2|jall” + 2yl (2d)

as required.

(=)

First, note that (changing a sign in the calculation above) given an inner product (-, -), and the induced
norm ||-||, for any x,y € V, we have

lz +yl* = e —y|* = (z+y,2+y) - (@—y,z—y) (3a)
= ((@2) + (oy) + woo) + w,0) ) = ((0,0) — (2.9) = ,2) + (,9) ) (3D)
= 2(z,y) +2(y, 7) (3¢)
= d(zy) . (34)

Solving for (z,y), we see that if a norm is induced by an inner product, then the inner product can be
expressed using the norm via (©). Thus, if there is an inner product (-,-) that induces a given norm
[I]l, then the inner product must be given by (©).

We now need to show that, given any norm, if we define (-,-) via (¥) then (-,-) is actually an inner
product if and only if the norm satisfies the parallelogram law (1). To that end, we examine each of
the axioms of an inner product, assuming (-,-) is defined from a given norm ||-|| via (). This is not
an easy problem. If you solved it, you should be proud!

So, suppose ||-|| is a norm on V' that satisfies the parallelogram law (1), and that (-,-) is a candidate
inner product defined by (V).
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Symmetry.
From the definition,
1
(y) =5 (2 +yl” = llz = yl*) . (4)
Swapping x and y, we see that:
1

(. 2) = 7 (ly+ 217 = lly = 2[%) = (@9). ()

Thus, the inner product is symmetric. O

Positive Definiteness.

By definition,

<l‘,5€> =

(121> =0) = X @al?) = el (©

A~ =

(Il +2l® = llo — 2|?) =

| =

Since norms are always nonnegative and zero if and only if z = 0, we conclude (x, ) = 0 if and
only if x = 0.

Thus, (z,x) is positive definite. O
Linearity in the First Argument.

This is the very challenging part. We will break it into two pieces: (z +vy,2) = (z,2) + (y, 2)
and (az,z) = a(x,z). Both are tricky, but—perhaps suprisingly—the second requires more
analytical creativity.

To begin with, it is worth making a note of what the paralleogram law (1) implies if one of the
two vectors is the zero vector. If z = 0, then (1) states that [|y||*+||—y||*> = 2|ly||*, and hence

2 2
I=yl” = lyl® VvyeV. (7)
Consequently, if we insert © = 0 in (©), then we we find
0.y) =0 VyeV. (8)

This may seem an obvious fact, but remember that we do not yet know that (-,-) is an inner
product. All we know is that it is a function of two variables defined by (V) and that the norm
satisfies (1).

Now, the parallelogram law (1) is presumed to hold for all z,y € V. So, it is true if we write x
and y as any linear combinations of other vectors in V. Doing this judiciously will get us where
we want to go. Given any u,v,w € V, if we let x = u + v and y = w then (1) states that

lu+v+wl® + u+v—w|*=2u+v]* + 2w 9)
Similarly, if we let © = v — v and y = w then (1) states that

e = v+ w|* + flu = v = wl|* = 2[Ju = v|* + 2wl . (10)
If we now subtract Eq. (10) from Eq. (9) we obtain

v+ wlf? + v = wl* = Ju— v+ wl* = fu—v—wl® =2 u+o* = 2[u—o|* . (11)

!Note that any norm on V satisfies |lay|| = |a|[|y|| for all a € R by definition, so ||-y| = [|y||, and
hence ||—y||* = |ly]|, regardless of whether the parallelogram law (1) holds in V. But it is interesting that
—ylI> = [jy||* follows directly from the parallelogram law, which does not itself imply |-|| is a norm. For
example, if we define a function ||-|| on R™ via [|z|| = 21 (the first component of ) then ||-|| satisfies the
parallelogram law (1) but is not a norm, since ||—z|| = —z1 < 0 for x; > 0, and hence fails to be non-negative.
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Recalling the definition of the candidate inner product (©), the RHS of Eq. (11) is
2u+v]* =2 u—v]|?* = 8uv), (12)
and the LHS of Eq. (11) is
1w+ ) 4+ wl® + [ (u +0) = w]|* = [|(w =) + w|* = || (u —v) = w|* (
=t w) +ol* + [l = w) + o * = | (u+ w) = ol* = || = w) = 0|® (13b
=t w) +ol* = [[(w+w) = o + | (u = w) +ol* = || (= w) — ] (
= 4{u+w,v) +4{u—w,v) . (

Therefore, Eq. (11) can be written
(u+w,v) + (u —w,v) = 2{u,v) . (14)

It would help us if we could replace 2 (u,v) with (2u,v) in this equation, but we don’t (yet)
know that scalar multiples can be brought inside the first argument of (-,-). Nevertheless, we
can see that this is true if the scalar multiple happens to be 2, by considering the special case
of Eq. (14) with u = w, which yields

(2u,v) + (0,v) = 2(u,v), (15)
and, recalling Eq. (8), this becomes
(2u,v) = 2(u,v) . (16)
Thus, in Eq. (14), we can indeed replace 2 (u, v) with (2u, v) to obtain
(u+w,v) + (u—w,v) = (2u,v) . (17)

This is true for any u,v,w € V, so, given any z,y,z € V (unrelated to any particular x,y, z we
started with), if we insert

1
v =2z, (18)
1
w= g —y)
in Eq. (17) we obtain
(w,2) +(y:2) = (@ +y,2), Voy,zeV, (19)

as required.

Now the really tricky part: we need to prove that for any z,y € V and any a € R, (az,y) =
a (z,y). Our first step is to observe that Eq. (16) is, in fact, a special case of what we are now
aiming to prove, namely the case a = 2. Using Eq. (16) and Eq (19), it follows that

(Bu,0) = (2u+uv) = Guo)+ (o) = 2(wv)+(w,v) = 3wv).  (20)
Similarly, (formally by induction) we have
(nu,v) = n{u,v) vn € N. (21)

Now consider a rational number ™, with m,n € N. We have

<%uv> - m<iuv> (22a)
n<%uv> - nm<711u,v> = m {u,v) (22b)
&

u7v> = = (u,v), (22¢)



so (au,v) = a{u,v) for any positive rational number. If we now observe, using Egs. (8) and
(19), that
0 = (0,v) = (u+ (—u),v) = (u,v) + {(—u,v), (23)
then we have
(—u,v) = —(u,v) VYu,veV, (24)
which then implies that, in fact, (au,v) = a (u,v) for all a € Q.
Another way of saying this is that, for any u,v € V, the function

fla) = {(au,v) — a{u,v) (25)

satisfies f(a) = 0 for all a € Q. If we can now show f is a continuous function of a for all a € R,
then it will follow that f(a) = 0 for all @ € R. To that end, first recall that in any normed
vector space V,

llal =gl < Jlz =gl ~ Vayev (26)
(which you can prove by noting that ||z| = |[(z —y) + y| and using the triangle inequality).
Consequently, if (-, -) is defined by (©) then
1
@l = 7|l +yl* = llz =yl | (27a)
1
= 2|+ yll =z = ylD) (llz + vl + 1o = o)) (27h)
1
= 2|Ula+yll= =@ =)l (lz +yll + = =91} from (7)  (27c)
1
< 7|U@+9) +@=I) (lz -+l + e =) from (26)  (27d)
1
= 7 (||2x||)(ux+y||+||a:—y||)| (27¢)
1 . . .
< | (2al) Cllzll + yl + ol + Nyl triangle inequality  (27)
1
= Z|elen) @zl +21w1)| (27)

Cancelling constants, we have

eyl < =l Cllell + llyll) - (28)

Now suppose a,, € Q for all n € N, and a,, == a € R. We need to show that f(a,) === f(a)
to establish that f is continuous on R. Therefore, consider

[flan) = f(@)] = [{anu, v) = an (u,0) = ({au,v) — a{u,v) )| (29a)
= |<anu,v> (au,v) — (an (u,v) —a(u,v) )‘ (29b)
= [apu,v) — (au,v) — (a, — a) {u,v)] (29¢)
= [{anu,v) + (—au,v) — (a, — a) (u,v)| from (24) (294d)
= anu — au,v) — (an, — a) {u,v)| from (19) (29e)
= [{(an — a)u,v) — (an — a) (u, v)| (29f)
< [(an — a)u, v)| + [(an — a) (u,v)]| (29g)
= [((an — a)u,v)| + [an — al [{u, v)| (29h)
< [[(an — a)ull ([(an — a)ull + |[v]]) + lan — a[ [{u,v)| ~ from (28)  (29i)
= Jaw = af (1l (Jaw = o [ + o] + [{.)])) (209)

EEEN (29k)

Thus, f(a,) === f(a). Since a € R was arbitrary, f is continuous on R. Therefore, f(a)
for all @ € R, and hence, by definition (25), (au,v) = a (u,v) for all « € R, as required.

O o
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12. For each of the real vector spaces R™, (P, and Cla,b], prove that the only p-norm
that is induced by an inner product is the Euclidean norm.

Hint: Show that a p-norm satisfies the parallelogram law if and only if p = 2.

In R™, the p-norm is

n 1/p
z]lp = (Z Iz‘|p> : (30)
1=1

so the parallelogram law (1) states

n 2/p n 2/p n 2/p n 2/p
(Z |$i+yi|p> + <Z xz‘—yz‘p> =2 <Z$1p> +2<Z|yi|p> : (31)
i=1 i=1 i=1 i=1

If this law holds for all z,y € R™, then it holds in particular for x = e; = (1,0,0,...,0) and
y=-es=(0,1,0,...,0). Inserting these specific values of x and y into Eq (31), we have

lz +ylly = (17 +17)*/% = 22/7, (32)
lz =yl = (17 +17)*/% = 22/7, (33)

so the LHS of the parallelogram law (31) is

22/ 4 92/P — 9. 92/p — 21+2/p (34)
and the RHS is
2)|z)|2 + 2[ly||2 = 2(17)*/P + 2(17)*/P =2+ 2 = 4. (35)
If the identity (31) holds, then
2
2M2P =92 = 14Z=2 = p=2 (36)
p

so the only value of p for which ||-[|,, could possibly satisfy the parallelogram law (31) is p = 2.

To complete the proof, we must now show that for p = 2 the parallelogram law (31) holds for all
x,y € R™, not just x = ey and y = es. With p = 2, the LHS of the law (31) is

n n
Z i+ yil® + Z i — yil®
1=1 1=1

n

Z(M +yi)? + Z(l‘i —vi)° (37a)

i=1

n

(@7 + 2257+ v7) + (2] — 22057 + ) (37D)

i=1

I
M=

1
=2 |mP+2> |uil (37¢)
=1 =1

which is the RHS of the law (31), as required.

Il
N

Thus, given the Jordan-von Neumann theorem (problem 11), we have confirmed that a p-norm on R™
is induced by an inner product if and only if p = 2, the Euclidean case. ]
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